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Q(1): In Fig.1 below, the three phase source is balanced, P, reads upscale 4411 Watt, while P, reads
downscale 1000 Watt, and V5 = 44040°V rms. Determine:
1) (2 marks) The value of P.F. for the load (is it lagging or leading?)

2) (4 marks) I,4 and Z,,

3) (2 marks) V.,

4) (2 marks) The P.F. at the Source (is it lagging or leading?) and the total complex power of the
source.
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Sectlon..f ‘ j,p-‘l’l
_X(2): (a) (6 marks) For the circuit shown in Fig.2 find: V, and I,.
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/@ marks) For the circuit shown in Fig.3 given vy(t) = 20 cos 10t V
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“O(3): Tn the circuit shown in Fig.4, given vs(t) = 10e~**cos(10t + 30°)V, determine:

1- (6 marks) iy () P
2- (2 marks) The natural response for I3(s) in the s-domain. -y
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